ELEVATE YOUR VIEW.

DANT CLAYTON

ALUM-A-STAND BLEACHERS
STANDARD INSTALLATION INSTRUCTIONS

TO OUR CUSTOMERS

You have purchased the most unique portable bleacher system on the market. It is the highest
quality, the best appearing, and the strongest bleacher system and the Alum-A-Stand will assem-
ble faster and at less cost than any other bleacher system with comparable features. No other
bleacher system will give you all of this:

e Becomes more rigid and safe by means of a positive connection with each connection of a
footboard, a seat, a crossbrace, and aisle and a handrail.

Allows repair of damaged understructure parts without welding.

Comes with a standard 5/3 year warranty.

Has the strength of the Alum-A-Stand’s 3” tube and channel construction.

Has two internal legs on the seats (3 %”) and footboards that are 2 /4" in height which is the
most important factor that gives the plank its strength.

While other bleacher manufacturers are constantly looking for ways to cut costs from their pro-
duction, the Dant Clayton Corporation has constantly searched for ways to improve the Alum-A-
Stand to comply with code requirements, make the Alum-A-Stand safer and easier to install, and
make the Alum-A-Stand a quality product of which you can be proud.

TO THE INSTALLER

The Alum-A-Stand is a unique product and requires some different techniques and tools than any
other bleacher system. Please familiarize yourself with these instructions in their entirety before
beginning your installation. We have combined drawings, pictures and the written word on each
step in an attempt to make your installation go as smoothly as possible.



TOOLS REQUIRED THAT MAY BE UNIQUE TO THE ALUM-A-STAND

32 oz. rubber mallets for attaching footboards
C-clamp type vise grips to remove a footboard
3” hole saw

OTHER TOOLS REQUIRED

Generator if no electric is on site

Band cutters to break bundles

Knife for removing packaging

Tape measures

Drill with 3/16”, 3/8” bits

Screw driving drill with 5/16” hex drive attachment
Pop rivet tool for 3/16” rivets

Ratchets with %” and 3/8” sockets

3/8” and 11/16” open end wrenches

Drift pins for hole alignment

Circular saw with carbide tipped blade
Reciprocating saw with metal cutting blade
Concrete hammer drill with 3/8” and %" bits
Sledge hammer

Fencing pliers

Come-a-long

Hammer

Bolt cutters

Fence Stretcher

IMPORTANT PITFALLS TO AVOID

Your installation efficiency will increase by heeding the following:

Don’t tighten anything until you are ready to attach the chain link fabric.

Attach cross bracing before footboards.

Install riser and 2’ x 5’ filler boards for aisles and/or closed deck before seats.

Install the 2’x 5’ filler board over the tall stair handrail posts before attaching the stair handrails.
If stairs are positioned at front of stand instead of at the end(s) of walkway, the 2’ x 5 filler
board will have four 3” diameter holes and will slide over the front handrail posts on bleacher
before front handrail is installed.

Seats for the end sections which have a 3” diameter hole in one end must be attached at the
rows where a handrail post will be located (refer to drawings).

The bottom side handrails and the side rail post connector channels must be positioned before
the side handrail posts are attached.

Install the side and rear rails at the rear corners in sequence from bottom to top (bottom side
rail first, bottom rear rail second, etc. Refer to drawings and hole patterns on posts.)

After all attachments have been made, tighten the handrail posts and handrails before attach-
ing chain link fabric.



STEP 1:
Unloading the Truck and Staging the Material

In most cases, your material will arrive on a flatbed trailer. Larger Alum-A-Stand bleachers may
require the use of a forklift. You will need a minimum of 4 workers; 2 on the ground and 2 on the
truck. Position the truck as close as possible to the installation site. When practical, scatter the
frames approximately 6’ on center of the installation site. Stack the footboards in front of the in-
stallation site conveniently accessible as these will be installed first. Arrange other materials on
ground in order of use.

Some boards are dimensionally similar. Special attention must be given to kerf patterns. Front
Walk Way (FWW) Boards are kerfed every 3’-0".

STEP 2:
Crossbrace Attachment

Distribute pre-assembled frames throughout the length of the site for the stand spacing them 6’
OC. Attach all crossbraces at locations shown on section drawing and on framing plan drawing.
Refer to crossbrace connection detail and crossbrace length chart on section drawing and on pack-
ing list. Use 3/8” x 3 %" bolts (3/8” x 4” bolts may be furnished when connecting 2 or more braces
at the same location). The 2 channels that form the “X” for each set of crossbracing will be posi-
tioned on opposite sides of the tubes.

IMPORTANT: DO NOT TIGHTEN ANY BOLTS WITH A WRENCH UNTIL YOU HAVE COMPLETED FOOTBOARD AND SEAT-
BOARD INSTALLATION.



STEP 3:
Footboard Attachment

Referencing frame layout plan, organize and space frames as shown throughout the length of the stand.
Begin installing footboards according to the plank layout drawing. Begin at front walkway or row 1 work-
ing from one end to the other, but never from both ends simultaneous. Pay attention that if your stand
has a front walkway to locate the footboards that are kerfed typically every 3’-0” as those boards will re-
quire stiffener channels. To attach the footboards to the footboard support channel, align the slots in the
channel with the notches in the legs of the plank in a vertical position. While applying downward pressure
on the plank and using a rubber mallet, drive the plank straight down so the lower points of the legs lock
the plank into the channel. Once the front walkway is attached to the frames attach the stiffener channels
to the underside of the front walkway footboards to provide stiffness to the decking. Continue to work
your way up the bleacher in this manner until all footboards are attached to the frames. If you have more
than one frame front to back, swing up the connector link channel on the next frame and bolt to the
frame in front with a 3/8” x 3 1/2” bolt. Once all footboards are attached to the stand apply end caps with
rubber mallet to the ends of each footboard.

NOTE: If your stand is elevated, entrance stairs should be assembled to assist in getting materials onto stand.

2"x10" FOOTBOARD.

3 KERF @ PLANK JOINTS
FULL KERF @ TYPICAL SUPPORTS.

34"x2H"x5” FOOTBOARD
SUPPORT CHANNEL.

KERF IN FOOTBOARD SUPPORT TO RECIEVE SNAP—IN
TAB OF FOOTBOARD.

BROKEN LINE INDICATES CENTERLINE OF PLANK JOINT.




STEP 4:

Aisle Filler Board and/or Closed Deck Installation

Install the closed deck or aisle filler materials consisting of a riserboard and a 2” x 5” filler board which in-
terlock in a tongue and groove connection. Refer to plank layout drawing. The riser plate fits behind the
double 2” x 10” footboards and the filler board slides over the seat support tubes to interlock with the

riserboard.

NOTE: If your stand is semi-closed, the riser board will run the length of the stand and the filler board will interlock with the

riser at the aisles and handicap area only. Attach the riser to the seat support tubes with self-tapping tek screws.

4’—6" ANTI SKID NOSING STRIP
TYP. UNLESS NOTED OTHERWISE
APPLY TO ALL FILLERBOARDS
AT AISLES WITH (4) 3/16" POP
RIVETS AT ALL AISLES.

2"x5"  MILL FINISH FILLERBOARD CONTINUOUS. (6'-5"

LG. @ AISLES ONLY IF SEMI-CLOSED DECK.)

1"x8" RISERBOARD CONTINUOUS.

2 §"@ TUBULAR ALUMINUM UNDERSTRUCTURE.

(2) 2”x10" MILL FINISH ALUMINUM FOOTBOARDS.

[
Il
¥

STEP 5:

Rear Handrail Post Installation

3'—6" MIN.

Install rear handrail support posts using two 3/8” x 3 %" bolts.
The rear posts will have 2 holes in the bottom, 14” apart in o

) 10§" POST CONNECTOR CHANNEL FIELD ATTACHED

most cases. TO UNDERSTRUCTURE W/ (2)-2'x3}"

HEX HEAD BOLTS.

1
l
—

NOTE: This step may be done while the rear frames are laying on the
ground.

)

-l
[
|

A TEK—SCREWS (1) PER

2 RISERBOARD.
O

W .

) A




STEP 6:
Seat Attachment

Install the seatboards referring to the seatboard layout drawing. Use 3/8” x 3 %" bolts. If your stand
requires seat splices, install seatboard on one side of the splice as described above. Then, insert the
splices into the end of that seatboard and bolt the splices through the seat support post. Slide the
seatboard on the other side of the splice into the splices and bolt. Ensure bolt is tightened after as-
sembling splice. Install protective plastic seatboard leg covers per installation drawing.

NOTE: The end sections of seats will have 3” diameter holes punched in the top at one end for the locations on the end
where handrail support posts will be installed. Refer to the end elevation drawing for the locations of the end handrail
support post.

INTERNAL PLANK SPLICE.
§"x4" HEX BOLT.

2§"® SEAT POST. N
2"x10" SEATBOARD.

SECTION
SEATBOARD

1'=0" LG. INTERNAL PLANK SPLICE
(APPROX. 6” IN EACH END OF PLANK)

T [1
e

. 30
g HEX NUT.
[\~ INTERNAL PLANK SPLIC 8

6" \g" x 4" HEX BOLT.

FRONT VIEW

§'x4” HEX BOLT.
2x10 SEATBOARD.

28”0 SEAT POST.

STEP 7:

Cast Endcap Installation

Install all cast aluminum endcaps for the footboards, filler boards, seatboards and riser boards. En-
sure 3/16” pop rivets attach riser endcaps. Pre-drill through risers into riser endcap flanges shown on
right.




STEP 8:

Bottom Side Guardrail and Side Guardrail Post
Connections

\‘\
1
¥

Lay the lower side guardrail in place above foot-
boards and below seatboards. Insert side post
connector channel and bolt to seat support tube
below seat. (See End Elevation drawing). Slide
side guardrail posts down through 3” hole in end
of seats through the side post connector channel e
and the lower side guardrail. Bolt post into place 1O UNDERSTRUCTURE W/ (2)-'04"

with 3/8” x 3 %" bolts.

36" MIN.

5'-2}"

[

|

ki
—

1)

TEK—SCREWS (1) PER
RISERBOARD.
CrL1)
W -]

] N G A D A"

- . ]

<1
\
\
\
o
=

s

STEP 9:
Stair Installation

Prior to assembly re-verify that all needed material is
on site. Stage the parts at the install location. Stand
up the LH and RH stair stringer assemblies and bolt on
the x-braces and the lower backer angle beneath the
bottom stair tread. Clip stair treads so that the riser
keyway is clear of the tread angle. CLIP SECURELY and
leave off the bottom tread. Begin installation of the
riser by centering and rolling the riser so the ends are
the same distance from the stringer. Install Tek
screws 3” from each end and one in the center (3) to-
tal.

Once the above work has been completed (minus the
bottom step), position and square up the stairs to the
bleacher (shim if necessary) and then anchor the
stair. Finish the bottom by setting the stair tread and
clipping down and then installing the bottom riser. At
this point the cover plates for the top and front of the stair MUST BE INSTALLED per the installation
drawings to cover the sharp corners to prevent injury. Install the joint cover if necessary and apply
anti-skid nosing with the required number of pop rivets. Then install the grab rails and anchor to
the concrete.




1.9"¢ ANODIZED ALUMINUM GRABRAIL
[DIE# 137AC] — ATTACH TO EACH
BRACKET WITH (2) #12x14" TEK SCREWS

STEP 10:
Stair Attachment (Elevated Only!)

EXTRUDED ALUMINUM GRABRAIL
[\__BRACKET [DIE# 135AM] — ATTACH
(1) PER POST WITH §'ox13"

FLANGE BOLT.

If you enter the stand from the front, attach stairs to
front of stand by sliding 2” x 5” plank over the top of the
stair posts and the front handrail posts adjacent to the
stairs. Slide the 2” x 5” plank over the top of the tall stair
posts before attaching the handrail.

UM STAIR TREAD\ /R\GHT SIDE ASSEMBLY

ATTACH X—BRACING WITH

(1) 3"0x13" HEX BOLTS,
FLAT WASHERS & NUTS

ATTACH X—BRACING WITH

(4) $'ox3” HEX BOLTS,
FLAT WASHERS & NUTS

INCFL 3727 ALUMINUM
X—BRACE [136172]

STEP 11:

Corner Connector Tubes SIDE TOP RAIL W/ ENDCAP.

S 2'x3}” HEX BOLTS &
{NUTS.

]
<EE&REAR TOP RAIL W/ ENDCAPS.

REAR TO SIDE CORNER

CONNECTOR TUBE 23" ¢

1 ALUM. TUBE @ 4'-7;%"
L

Install front and rear corner connector tubes.
Connectors will stabilize the rails that cantilever
past the frames to the corners.

fﬁyREAR BOTTOM RAIL W/ ENDCAPS.

NOTE:
@ ALL FASTENERS ARE TO BE
2"x3}” HDG HEX

\ BOLT & HEX NUT

SIDE BOTTOM RAIL W/ ENDCAPS.

/REAR RAIL POST.




1%”@5 ANODIZED ALUMINUM AISLE RAIL.

STEP 12:
Aisle Handrails

Position aisle handrails in center of aisles
at row locations shown on drawings. The
floor mount flange is to be centered over a )
the joint where the 2” x 5” plank and the ]
front footboard meet. Mark holes and 3

drill 3/8” holes through the footboards. ]
Attach aisle rails using 3/8” x 3 1/2” bolts E
and a backer plate on the underside of the B ! 1L J’“
footboards, per installation drawings. ‘ 1
T T T[T
E ‘ 14
FIELD DRILL & THRU—-BOLT THRU DECK

W/ (4)-§"x3}” HDG HEX BOLTS, o
HEX NUTS & FLAT WASHERS.
5”°x8"x%” ALUMINUM SUPPORT PLATE.

STEP 13:
Walkway End Rail Panels

On stands that have the walk- ENDCAP. P 22483 TYF.
way closed off, you will have a
pre-assembled guardrail panel
with guardrail posts that ex-
tend below the walkway level.
Attach this panel using 3”
channels with half-moon cut-
outs in the ends to the end
frame under the walkway.

#14 ALUM TIE WIRE

@ 18" 0.C. @ TOP &
BOTTOM (TYP ALL CLF)
PN#

FACTORY ASSEMBLED RAIL PANEL
PN#[G055]

INSTALLATION NOTE:

THIS RAIL PANEL CAN BE USED
ON EITHER SIDE OF THE
PLATFORM FRAME.

Attach 042 diagonal brace in if
PLATFORM FRAME
two places. L puseo50]
b
/ END RAIL PANEL
SUPPORT DIAGONAL
PN#

PANEL TO FRAME
CONNECTOR CHANNEL
PN# [TO5071

57 % 3 2 WEDGE
ANCHOR 2 PER

FR;
PN# [21788

010 CAST END CAPS ON ALL RAILS
PN# [22465 TYP




STEP 14:
Tighten all Bolts

After tightening, double check for bolts that may have been missed. A commonly overlooked con-
nection is the frame connector channel bolt that is used to attach the frames together front to
back.

STEP 15:
Install Chain Link Fabric

Slide the tension bar into the end of the
chain link fabric and attach the bar and fab- 16 x 28125 x 093 ANODZED
ric to the corner post with 3 tension bands PN BIPE R
and 5/16” x 1 %" carriage bolts and nuts.

#16 ALUM TIE WIRE. @ 18" O.C.

54"LG. GALVANIZED STEEL TENSION BAR ON
OUTSIDE OF RAILING.

Using a come-a-long for long stretches of >? NV~
fence, pull the chain link tight and attach ><, (XK -
the chain link to the handrails (top and }&Q@\/\K/\é
bottom) using the aluminum tie wires and /§ ><><></\/\/>>< ——54" FINISHED CHAIN LINK FENCE ON OUTSIDE
fencing pliers. Attach the other end of the /yzKX%/\ K\é T
chain link to the terminating post, again > X%/;i \/Q( e
using 3 tension bands and the carriage \}é//:éx\/y\/% /@*PER TENSION BAR).
bolts. Typically, the side chain link will be i%&ﬁxfx*%y&éé@%l ' ALUMNUN SOE RAL FOST @
54” and the rear chain link will be 42”. The &WA\/\(Y><X /4’*7%’*

. .. . N /Yy S SEATBOARD.
ends of the side chain link will have to be AR A /|

. . XX / >< X 3.116 x 2.8125 x .093” ALUMINUM
cut at an angle. Slide the tension bar 00 4 y\ \/\( J RAIL POST CONNECTOR CHANNEL
through on the path of least resistance, cut St </\&>>%L o v
the excess triangular material behind the b=
tension bar with bolt cutters and wrap the T B 47
ends that have been cut around the tension . :
bars with fencing pliers. — é O B
N

SAFETY NOTE: All cut chain link fabric must be bent to avoid exposed cut edges.

STEP 16:
Anchor the Stand to Concrete

Anchor stand to concrete with expansion anchors provided. Drill through the holes in the base
channel with a concrete hammer drill using a bit the same size as the anchors provided. Put the
washer and nut on the anchor bolt past the taper on the top of the bolt. Drive the bolt into the
hole in the concrete and tighten. Dant Clayton Corp. does not advise placing Alum-A-Stand bleach-
ers on asphalt, gravel or ground.



You have purchased a premium quality product and it is our intent to provide a premium qual-
ity service. Should you encounter problems or have questions, please call Dant Clayton Cor-
poration at 1-800-626-2177.

ELEVATE YOUR VIEW.

DANT CLAYTON

1500 Bernheim Lane - P. O. Box 740008
Louisville, KY 40201-7408
Toll Free: 800-626-2177
Fax: 502-637-9983



